
J
J

J

J

J

J

J
J

D

D

D

D
D

D

J

D

D

D

J

J

J

J

J

J

J

J

T
H

T

TH

T HT

X
1

X
2

X
3

X
4

X
5

X
6

X
7

XA XB XC XD XE XF

X
14

1

B600-A-301

2
B600-A-301

ROLL-UP DOOR
12' X 14' NEW

ROLL-UP DOOR
12' X 12' EXISTING

ROLL-UP DOOR
12' X 12' EXISTING

EXISTING DOCK

EXIST.
RAMP

THIS AREA NOT IN CROMWELL SCOPE OF WORK

HUMIDITY CONTROLLED AREA
4

B600-A-201
1

B600-A-201

2
B600-A-201

3
B600-A-201

XB

XB
XB

XB

B600-EX

EX

EXISTING WALL - NIC

1

15
9'

 -
 6

"

2

B600-A-305

2

B600-A-302

X
1

X
2

X
3

X
4

X
5

X
6

X
7

XA XB XC XD XE XF

EX

EX

EX

EX

LOWER ROOF

HIGHER ROOF

LOWER ROOF

HIGHER ROOF

B600-101A

CHEM. STOR.

B600-102

PROCESS AREA

B600-100

N
E

W
 R

O
LL

-U
P

 D
O

O
R

12
' X

 1
4'

 

SHIPPING / RECEIVING

B600-103

DEHUMIDIFYING
20' X 40'

NEW ROLL-UP DOOR
12' X 14'

ABRADING / CLEAN

HIGH-BAY
CRANE
AREA

H
IG

H
-B

A
Y

28
' -

 1
0"

50' - 2 5/8" 47' - 11 1/2"

55
' -

 7
 3

/8
"

B600-103A

B600-103DB600-103C

B600-103B

ELEC.

B600-104

1
B600-A-302

JAN.

B600-105

B600-104
60 MIN.

B600-103E EX

B600-101B

B600-105

EX EX

X
14

10' - 1 1/2" 7' - 0" 22' - 3 1/4" 16' - 0" 42' - 7"

3'
 -

 2
 3

/8
"

3'
 -

 4
"

11
 1

/2
"12

' -
 0

"
7'

 -
 4

"
7'

 -
 0

 3
/4

"
7'

 -
 8

"
9'

 -
 1

0"

1'
 -

 3
"

28
' -

 1
0"

28
' -

 6
"

26
' -

 5
 5

/8
"

25
' -

 0
"

25
' -

 0
"

23
' -

 5
 3

/8
"

1'
 -

 0
"

1' - 2" 18' - 5 1/8" 20' - 3 1/4" 20' - 3" 20' - 1 1/8" 18' - 10 5/8" 10 7/8"

B600-A-501
1

B600-A-501
2

B600-A-501
3

B600-A-501
4 B600-A-501

5

B600-A-501
6

B600-A-501
7

P2
--

P1
--

P1
--

P3
1HR

P3
1HR

P-4
1HR

P-4
1HR

P-4
1HR

P14
--

P14
--

P14
--

P14
--

B600-A-501
9

1

B600-A-903

2
B600-A-903

3
B600-A-903

B600-A-502
3 B600-A-502

4

B600-A-502
2

B600-A-502
1

CG

CG

18' - 5 1/8" 19' - 8 5/8" 20' - 9 5/8"

10 1/8" 13' - 2 1/4" 12' - 0"

1' - 5 1/8"

3' - 4" 14' - 1 1/2"

3' - 6"

38' - 8 3/4" 38' - 7"

10 1/4"

9' - 8 3/4" 12' - 0"

1'
 -

 0
"

10
' -

 1
0 

1/
2"

2'
 -

 3
"

1'
 -

 0
"

26
' -

 9
 3

/4
"

1'
 -

 0
 1

/4
"

3'
 -

 4
"

12
' -

 8
"

9' - 0" 9' - 6" 13' - 6" 7' - 6" 13' - 0" 5' - 1 1/8"

4 1/2"

B600-A-401

1

B600-A-401

11

10 3/4"

DEHUMIDIFYING

B600-107

PROCESS AREA

B600-100

1
B600-A-303

2
B600-A-303

B600-A-401

10

B600-A-401

2

B600-A-503
1

B600-A-503
3

B600-A-401

3

B600-A-503
6

B600-A-503
5

B600-A-503
7

B600-A-401

7

4

5

6

N
E

W
 8

' x
 8

' 
R

O
LL

-U
P

 D
O

O
R

B600-A-503
4

N
E

W
 8

' x
 8

' 
R

O
LL

-U
P

 D
O

O
R

COMPRESSOR SHED-
NEW CONCRETE
SLAB AND STEEL
STRUCTURE -
INSTALL NEW MTL
WALL PANELS ON THE 2 
SIDES AND METAL ROOF

B600-A-503
2

9 
1/

2"

2'
 -

 7
"

1'
 -

 8
"

3'
 -

 4
"

B600-102
60 MIN.

B600-A-522
4

B600-A-503
9

B600-A-503
10

CLEAR

20' - 0"

C
LE

A
R

40
' -

 0
"

10
 5

/8
"

P-11
--

P-11
--

P-11
--

P-11
--

P-11
--

P-11
--

P-11
--

P-11
--

P-11
--

P-11
--

P-11
--

P-11
--

B600-107B

B600-107C

B600-107A

1

20' - 0"

4 1/8" 10 1/4"

1

41
' -

 9
 1

/4
"

10
 1

/8
"

6'
 -

 0
 7

/8
"

2'
 -

 1
0 

5/
8"

8'
 -

 0
"

6'
 -

 4
"3'
 -

 4
"

10
' -

 0
"

8'
 -

 0
"

3'
 -

 2
 5

/8
"

12
' -

 1
 7

/8
"

NEW ALUMINUM CANOPY

2

NEW STEEL PIPE RAILING

3

P3
1HR

NEW DOCK LEVELER

WHEEL CHOCK

4

6'
 -

 1
"

6'
 -

 1
"

FUME
HOOD

5

5

3
B600-A-303

12' - 8"

2'
 -

 0
"

12
' -

 0
"

3

B600-A-303
SIM

10' - 0"

10
' -

 6
"

4' - 0"

5'
 -

 0
"

P2
--

P2
--

PAINT
BOOTH
(OF/CI)

IGNITER
LINER

IGNITER
LINER

5

5

NEW BOLLARD

DS

DS

DS

DS

COMPRESSOR SHED-
NEW CONCRETE
SLAB AND STEEL
STRUCTURE -
INSTALL NEW MTL
WALL PANELS ON THE 2 
SIDES AND METAL ROOF

XB XC

1

B600-A-301

2

B600-A-301

3

B600-A-301

X
6

X
7

XB XC

6

B600-A-301

B600-A-501
8

B600-A-401

11

20' - 0"

1'
 -

 0
"

26
' -

 1
0"

1'
 -

 0
"

BRIDGE CRAIN

UPPER CRAIN HIGH BAY

EXP. JOINT

2

1
B600-A-301

2
B600-A-301

3

B600-A-301

X
6

X
7

XC

6
B600-A-301

5409

WILLIAM
THOMAS MOORE

S
T

A

T E O F M IS S IS
S IP

P
I

R
E

G
IS

T ERED A RCHIT
E

C
T

Sheet Number

Sheet Title

Issue Date

2023-047

1.  THIS SHEET DESIGNED FOR COLOR PRINTING.  

     CRITICAL INFORMATION MAY BE LOST WITH   

     BLACK AND WHITE PRINTING.

Project

Revisions

CONSTRUCTION 

DOCUMENTS

Design Phase

A
n

d
u

ril
 In

d
u

st
rie

s 
-

M
c

H
e

n
ry

, 
M

S
R

o
c

ke
t 

M
o

to
r 

Sy
st

e
m

s

A
d

d
it
io

n
s 

a
n

d
 R

e
n

o
v
a

ti
o

n
s 

to
 B

u
ild

in
g

s 
3
0

0
, 
3

0
1

, 
3
0

2
, 

4
0
0

, 
6

0
0

 a
n

d
 7

0
0
 -

M
c

H
e

n
ry

, 
M

is
si

ss
ip

p
p

i

No. Date Description

Project Number

Notes

Stamp

WILLIAM THOMAS MOORE, AIA

ARCHITECT

1300 East 6th Street

Little Rock, Arkansas 72202

501-372-2900

FLOOR PLAN

B600-A-101

10101010−−−−26262626−−−−2023202320232023

10-26-2023

1/8" = 1'-0"
1

FLOOR PLAN - BUILDING 600 / HENDERSON

SCALE :  1/8" = 1'-0" 

0 4 8 16

NORTH

PARTITION TYPES

Type
Mark Description

Fire
Rating STC

P1 GYP. BD. ON 3-5/8" METAL STUD -- --

P2 GYP. BD. ON 3-5/8" METAL STUD -- --

P3 1 HOUR RATED PARTITION - 3 5/8"
METAL STUD FRAMING AND 5/8"
TYPE-X GWB BOTH SIDES

1HR

P5 3HR

P14 GYP. BD. ON 6" METAL STUD -- --

P-4 1 HOUR RATED PARTITION - 3 5/8"
METAL STUD FRAMING AND 5/8"
TYPE-X GWB BOTH SIDES

1HR

P-11 SCHEMATIC 5" -- --

KEYNOTES - MASTER - ALL BUILDINGS

Key Value Keynote Text

1 RESERVED

3 2" THICK INSULATED METAL PANEL - HORIZONTAL / CEILING - R-19 MIN.

4 RESERVED

13 NEW HOLLOW METAL DOOR & FRAME

1/4" = 1'-0"
2

DETAIL PLAN-CRANE HIGH BAY
NORTH

1/4" = 1'-0"
3

UPPER CRANE BAY NORTH

1 11-14-2023 RB 001

2 02-08-2024 RB 002

3 03-18-2024 RB 003

4 07-25-2024 RB 007

5 11-21-2024 RB 013


	Sheets
	B600-A-101 - FLOOR PLAN
	B600-A-201 - EXTERIOR ELEVATIONS
	B600-A-503 - COLUMN DETAILS
	B600-A-542 - ROOFING DETAILS
	B600-A-601 - DOOR SCHEDULE AND FINISH SCHEDULE


